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5f9is~d O 5'Yjl tyf 5'Yjlg]\ jftfjz6 (CEA-01) 

tfzlb  O 07/07/2012 

;di  O 11.00 to 12.30       s], u]6 O 50 

 

1 Lgsf[,; sf[5zLgs;[ s. dfGitfvf[g[ ;frl 9[zjlp 

(A) u[,[s;l (B) tfzfh}y (C) :sfi s[GÌli LjXj (D) a~ªf\0 
 

2 ;}i" 5f[t[ x]\ k[ M 

(A) P5u~c (B) u~c (C) tfzf[ (D) d\0/ 
 

3 hfulg[ hf[P tf[ hut nl;[ gcl\4 a~ª ,8sf sz[ aª 5f;[ 5~efLtifgl 1fdtf vf jft sf[6[ szlp 

(A) cLzGÌ nj[  (B) ef,/  (C) zd[x 5fz[b (D) gzL;\c dc[tf 
 

4 v[zl:8m8,gf[ hGd s. .p;pdf` yif[ ctf[p 

(A) 384 5kl (B) .p;p5}j[" 384 (C) .p;p 384 (D) Ê6[idf`yl v[s56 gcl\ 

 

5 jfzfcLdLcz[ sif\ u~\yf[ zRif M 

(A) a~ª:s]8Vb\0 bfws (B) v,L;\c V v, vsGÌ[ 

(C) Le<,df/VZldf/ (D) 5\rfL;ßf\LtsfVj'cT;\Lctf 
 

6 zfhf ;jf. hiL;\calhf sifgf` zfhf ctf\p 

(A) Pn[i5}z (B) hi5}z (C) hf[w5}z (D) sf[8f 
 

7 vfi"eçgf[ hGd sif\ yif[ ctf[ M 

(A) vfzf (B) 58gf (C) zf[ctf;  (D) s];]d5]zdf\ 
 

8 sif j{7fLgs[ uL6t vg[ bum/xf:Êgf[ ;dGji szl vfsfxl 5Lze~d/ vg[ uLtgf Lgid 

vf%if\ M 

(A) ef:szfrfi[" (B) a~ªu]%t (C) vfi"eç (D) LjzfcLdLcz 
 

9 tfzf LjÈjyl ag[,]\ x]\ cf[I k[p 

(A) a~ªf\0 d\nfslgl (B) ;]5zs,:8z (C) vjsfxLj\0m (D) v[s56 gcl\ 
 

10 vf56l d\nfslgl 22 ,fb 5~sfxjqf" n}z vfj[,l _______  vf56l 50mx6 k[p 

(A) v[Gúmd[0f (B) ú[sf[ (C) Í5 Ljsfzl tfzfvf[ (D) n[jifgl d\nfLsgl 
 

11 d\nfLsglvf[gf[ vEif; vd[Lzsg bum/ Ljw ________ v[ sif["p 

(A) v[0jlgn]a,[  (B) v,j8" (C) hf[G;g (D) Lc,d[g 

 
 12 ;}i"nfnf ________ gl Lnxfdf` Ljzfhdfg k[p 

(A) s,:8z vf[o u[,[s;lH (B) vfsfxu\uf 

(C) ;[8[,f.8 (D) :5f.z, vf[zlvg vfd" 
 



13 ;}i" 5klgf[ vf56l gÔsgf[ tfzf[ ___________ k[p 

(A) vf<of ;[\8mzl (B) u]z] (C) g[5Ri]g (D) %,]8m 
 

14 u~cm jRr[g]\ v\tz df5jf  ________ i]Lg8gf[ P5if[u yfi k[p 

(A) L;;df[u~fo (B) vm:åmgf[Lds, (C) Lsdf[u~fo (D) v[s56 gcl\ 
 

15 ;}i"gf hGd 5kl  ________ jqf[" alhf u~cmgf[ Pn=ej yif[p 

(A) rfz szf[0 (B) a[ szf[0 (C) Ê6 szf[0 (D) 5f\r szf[0 
 

16 23 5~sfzgf v[Ldgf[ v[L;0 hifz[ if[Ui s~ddf` uf[9jfi k[ Tifz[ _______ v[L;0 t{ifz yfi k[p 

(A) cf.úms,mzls (B) ;<oi]zls v[L;0 (C) v[Ldgf[ v[L;0 (D) v[s56 gcl\ 
 

17 5zdf6]vf[gf ;\if[hgyl _________ gfdgf[ jfi] 5[nf yfi k[p 

(A) sfa"g 0fif[s;f.0 (B) vf[Ls;hg  (C) vf[Hmg  (D) v[df[Lgif 
 

18 cjfdf\ 5~f6jfi]g]\ 5~df6 s[8,]\ cf[I k[p 

(A) 21 % (B) 78% (C) 19% (D) v[s56 gcl\ 
 

19 5'Yjlgl gÔs cjfgf jftfjz6g[ _______ sc[ k[p 

(A) vwmd\0/ (B) ÎWj"d\0/ (C) vfig d\0/ (D) a~ª d\0/ 
 

20 ÎWj"d\0/ _________ Lspdlp gl Î\rf. ;]wl Lj:tz[,]\ k[p 

(A) 90 (B) 80 (C) 70 (D) 100 
 

21 b0sf[ d]BiTj[ s[8,f 5~sfzgf\ cf[I k[p 

(A) a[ (B) rfz (C) Ê6 (D) v[s 
 

22 d'nfjz6g[ __________ sc[ k[p 

(A) cf.úm:oliz (B) Afif[L:oiz (C) j[wzl\u (D) ,lym:oliz 
 

23 h\tz d\tz gfdgl j[wxf/fvf[gf 5~6[tf ________ k[p 

(A) j[\s8[zf af5]Ô (B) zfhf hiL;\c 

(C) ;jf. hiL;\c alhf (D) v[s56 gcl\ 
 

24 vwm d\0/gl ,\af. Ljqf]j'ÿfgl P5z __________ Lspdlp k[p 

(A) 10 (B) 19 (C) 11 (D) 18 
 

25 s]nztg[ h[ s\. ;hi"] k[ v[ Pÿfd k[ dfgjlgf ,lw[ t[df` Ljs'Lt Pel y. k[p vf Ljwfg sf[6[ 

sc[,]\p 

(A) uf\wlÔ (B) Í;mv[ (C) vz:t]Ltv[ (D) v[s56 gcl\ 
 

26 5if"jz6g[ d]BiTj[ s[8,f efudf` jc[rjfdf` vfj[ k[p 

(A) Ê6 (B) a[ (C) rfz (D) 5f\r 
 

27 jftfjz6df\ gf.åmhg jfi]g]\ 5~df6 _________8sf k[p 

(A) 20 (B) 90 (C) 78 (D) 100 
 

28 xzlzg[ ;]\uLwt zfbgfz :5~[\df` sif\ jfi]gf[ P5if[u yfi k[ M 

(A) Ldy[g (B) ;<oz (C) s,mzf[ o,mzm sfa"g (D) :5lzl8 
 

29 Jftfjz6df\ ;fdfGi zlt[ _____________ 8sf v\ufz jfi] cf[I k[p 

(A) 0.04 (B) 0.06 (C) 0.03 (D) 0.02 
 

30 5if"jz6gf ;\ne"df\ jg:5Lt vg[ 5~f6lvf[gf ;a\wgf[ vEif; szt]\ Lj7fg v[8,[ ______ 

(A) z;fi6LjNf (B) .sf[,mÔ (C) h{jLjNf (D) v[s56 gcl\ 
 

31 cf0sf vg[ nf\tgl agfj8df` d]Bi 38s _____ k[p 

(A) ;<oz (B) gf.åmhg (C) om:oz; (D) v[s56 gcl\ 

 

32 sRkg]\ z6gl ____________ 5~f6lvf[ df8[gf[ zc[9f6 Lj:tfz k[p 

(A) L;\c (B) gl,ufd (C) h\u,l uw[0f\ (D) 3m0f 
 

33 zf;fiL6s bftzgf P5if[uyl ________ g]\ 5~n}qf6 yfi k[p 

(A) cjf (B) hdlg (C) vjfh (D) vf5[,f awf 
 

34 cjfdf\ ef[hg]\ 5~df6 jw] cf[I Tifz[ v[jl cjf 9\0l y.g[ hdlg gÔs vfjl hfi k[p t[g[ 

______ sc[jfip 

(A) w]Dd; (B) 5~n}qf6 (C) ;dj[u (D)  v[s56 gcl\ 
 



35 _______ 5nfy"g]\ Ljw8g yt]\ gylp 

(A) wf; (B) sfu/ (C) kf, (D) %,f:8ls 
 

36 :å[8m L:ovzgf P5zgf :tzg[ _______ sc[ k[p 

(A) vfig d\0/ (B) d[Ug[8lsHmg (C) ;lpv[op;lp (D)  v[s56 gcl\ 
 

37 jftfjz6df\gf vf[Ls;hggf Ê6 5zdf6]vf[gf ;\if[hgyl agtm jfi] ______ k[p 

(A) sfa"g (B) gf.åmhg (C) vf[Hmg (D) v[s56 gcl\ 
 

38 vf[Hmg :tzv[ 5'Yjl df8[ ______ k[p 

(A) ufn,]\ (B) vf[xls]\ (C) c]Õof/l uf[n0l (D) v[s56 gcl\ 
 

39 Ljdfggf vjfhgl _________ 0[L;a, dfÊ k[p 

(A) 69 (B) 79 (C) 89 (D) v[s56 gcl\ 
 

40 jz;fng]\ 5~df6 vg[ h\u,mgl j'LWw 5z:5z s[jf[ ;a\w wzfj[ k[p 

(A) vfwfLzt ;a\w (B) vf\tz 5~Ls~ifgf[ ;a\w  (C) LjÏWw ;a\w (D) v[s56 gcl\ 

 

41 ;}i"df\yl __________ cfLgsfzs Lsz6m 5'Yjl 5z 50[ k[p 

(A) X-Ray (B) 5fzhf\a,l tz\u (C) v<åf v[1fz[ tz\u (D) v[s56 gcl\ 
 

42 hd"g Ôjj{7fLgs v[g:8 c[s[,[ 5L:yLtLjNf df8[ ;f{ 5~yd ________ xAngf[ P5if[u sfif["p 

(A) c[,l8f8 (B) .smL:8d (C) s[zl>\u s[5[;l8l (D) .sf[,mÔ 
 

43 u\ws jftfjz6df\ __________  ;fy[ ;\if[hfi k[p 

(A) gf.åmhg  (B) vf[Ls;hg (C) Lc,lid (D) v[s56 gcl\ 
 

44 Loif[g gfds jfi] ________ df` j5zfi k[p 

(A) v[p;lp (B) ,f.8z (C) z[oòlhz[8z  (D) v[s56 gcl\ 
 

45 v[sHmL:oizdf\ _________ Hmg vfj[, k[p 

(A) s,mzlgHmg (B) d[Ug[8lsHmg (C) vf[Hmg  (D) v[s56 gcl\ 
 

46 vfsfxu\ufdf\ __________ vah tfzfvf[ k[p 

(A) 400 (B) 500 (C) 300 (D) v[s56 gcl\ 
 

47 5]Bt JiLstv[ Lnj;df\ _______ L,8z 5f6l 5lj]\ hf[.v[p 

(A) 5 ,l8z (B) 3.5 ,l8z (C) 2.5 ,l8z (D) 3 ,l8z 
 

48 xLg vg[ i]z[g;gl jRr[ gjf[ xf[wmi[,m ,w]u~c _________ k[p 

(A) %,]8m (B) Lszf[g (C) g[%Ri]g (D) v[s56 gcl\ 
 

49 ____________ wft]\ Ëni zf[u df8[ hjfa nfz k[p 

(A) 5fzm (B) ,l\;] (C) s[0[dlid (D) vf5[, awf 
 

50 j[wxf/f ________ gfd[ vf[/bfi k[p 

(A) e}, e},.if (B) vfi]j["nxf/f (C) h\tzd\tz (D) v[s56 gcl\ 

 

 

 ________________________
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tfzlb  O 07/07/2012 

;di  O 03.00 to 04.30        s], u]6 O 50 
 

 

1 5~n}qf6gf\ __________ 5~sfz k[p 

(A) v[s (B) a[ (C) Ê6 (D) rfz 
 

2 h\u,df\ ,futl vf[Lr\tl vfuyl ___________ of8l gls/[ k[p 

(A) vfu (B) ,fjf (C) nfjfg/ (D) 5f6l 
 

3 j'1fmgf[ gfx yfi k[ vg[ jftfjz6df\ _______ 5~;z[ k[p 

(A) sfa"g 0fif[s;f.0 (B) vf[Ls;hg (C) gf.åmhg (D) ;<oz 
 

4 jg:5Ltvf[ 5f[tfgf[ bmzfs agfjjf df8[  ______ gf[ P5if[u sz[ k[p 

(A) vf[Ls;hg (B) sfa"g 0fif[s;f.0 (C) 5f6l (D) v[s56 gcl\ 
 

5 jg:5Lt______________ gl cfhzldf\ 5~sfx ;\È,[qf6gl Ls~if sz[ k[p 

(A) r\Ì (B) ;}i"5~sfx (C) aGg[ (D)  v[s56 gcl\ 
 

6 ;j[" 5~df6[ j'1f 5f[tfgl Ls~ifgl s[8,f df6;mg[ vf[Ls;hg 5}zf[ 5f0[ k[p 

(A) 80 (B) 110 (C) 90 (D) 100 
 

7 Jffcggl ;\Bif jwjfyl x[g]\ 5~n]qf6 jwfz[ yfi k[p 

(A) h/ (B) Jfftfjz6 (C) hdlg (D) v[s56 gcl\ 
 

8 5'Yjl P5z_________ Lspdlp P\rf.v[ vf[Hmg jfi]vf[ 5çm vfj[,m k[p 
(A) 15 (B) 17 (C) 18 (D) 20 

 

9 efztdf\ 1950 df\ sf[,;fg]\ PT5fng s[8,f szf[0 8g ct]\p 

(A) 396 (B) 292 (C) 392 (D) 492 
 

10 v<åfjfim,[8 Lsz6m 5'Yjl 5z jwfz[ 5~df6df\ 50[ tm _______ zmumg]\ 5~df6 jwx[p 

(A) vf\b (B) rfd0lg]\ s[G;z (C) aGg[   (D) v[s56 gcl\ 
 

11 5'Yjl 5zgl s], h/ zfLxgf[ __________ 8sf efu ;d]Ì vg[ dcf;fuzf[ gf[ k[p 

(A) 97 (B) 87 (C) 89 (D) 77 
 

12 5'Yjl 5z zc[, x]ê 5f6ldf\yl 75% efu w~]j 5~n[xmdf\ ______ Í5[ cf[I k[p 

(A) azo (B) Lcdgnl (C) aGg[ (D) v[s56 gcl\ 

 
 

13 h/ ;\5Ltg]\ dfÊ _________  8sf x]ê 5f6l e}ue" h/ Í5[ dfgjlgl vfjXistf 5}zl szjf 

5~f%i k[p 
(A) 0.63 yl 0.66 (B) 0.60 yl 0.62 (C) 0.58 yl 0.60 (D) v[s56 gcl\ 

 

14 5f6l v[s _______ Ìfjs k[p 

(A) v5fz nx"s (B) 5fznx"s (C) aGg[ (D) v[s56 gcl\ 
 



15 5f6ldf\ vf[u/[,f vf[Ls;hg jfi]g]\ 5~df6 38f0gfz d]Bi 5~n}qfsf[ _______k[p 

(A) ;fa]df\ zc[, o[:o[8 (B) zf;fiL6s bftzf[ (C) aGg[  (D) v[s56 gcl\ 
 

16 efztdf\ 1950-51gl ;f,df\ ________ 8g zf;fiL6s bftz j5zfi]\ ct]\p 

(A) 60000 (B) 69000 (C) 80000 (D) 90000 
 

17 efztdf` 1960-61df\ zf;fiL6s bftz c[8z nl9 _____  Lspu~fp j5zmi[,p 

(A) 1.9 (B) 2.6 (C) 3.9 (D) 4.6 
 

18 zf;fiL6s bftzf[ vg[ 5fs;\z1fs njfvmdf\ efz[ ______ gf ,lw[ hdlg 5~n}Lqft yfi k[p 

(A) vwft] (B) vw"wft] (C) wft] (D) H[z 
 

19 1955-56df\ ______ 8g 5fs;z\1fs njfvf[ j5zfi[, ctlp 

(A) 2450 (B) 2550 (C) 2350 (D) v[s56 gcl\ 
 

20 efztdf\ nz c[s8z[ __________  u~fd 5fsz1fs njfvf[ j5zfi k[p 

(A) 500 u~fd (B) 400 u~fd (C) 550 u~fd (D) 450 u~fd 
 

21 ;\i]st zfqå;\3gf v\nfh 5~df6[ Ljsf;xl, n[xmdf\ nz jqf"[ ________ ,msm 5fs ;z\1fs njfvf[gl 

H[zl v;zmg[ sfz6[ d'Ti] 5fd[ k[p 

(A) 40,000 (B) 30,000 (C) 10,000 (D) 25,000 
 

22 ;\i]st zfqå ;\3gf v\nfh 5~df6[ Ljsf;xl, n[xmdf\ nz jqf[" ________ ,fb ,msf[g[ 5fs z1fs 

njfvf[ vg[ zf;fiL6s bftzf[gl df9l v;zm yfi k[p 

(A) 10 (B) 20 (C) 30 (D) 40 
 

23 jw] 5f6lg[ sfz6[ hdlgdf\ 5f6lgf t/ Î\rf vfjtf\ hdlgf[ ________ d]st aglg[ gsfdl y. 

u. k[p 

(A) v[L;0 (B) a[.H (C) 1ffz (D) v[s56 gcl\ 
 

24 t[hfal jqff" ________ g[ sfz6[ yfi k[p 

(A) ;<oz0fims;f.0 (B) sfa"g 0fif[s;f.0 (C) aGg[  (D) v[s56 gcl\ 
 

25 vjfhgl tlj~tf df5jf df8[ ________ v[sd j5zfi k[p 

(A) ,l8z (B) dl,l ,l8z (C) 0[;la, (D) v[s56 gcl\ 
 

26 ________ D.B.  P5zgf[ vjfh ;tt sfgdf\ vy0fif\ sz[ tf[ sfidl ac[zf56]\ vfj[ k[p  

(A) 50 (B) 70 (C) 75 (D) 80 
 

27 3zdf\ Lnj; nzDifg _____ D.B. yl jw] tlj~tf wzfjtm vjfh vif[Ui k[p 

(A) 35 (B) 30 (C) 10 (D) 15 
 

28 3zdf\ zfÊl nzDifg _______ D.B. yl jw] tlj~tf wzfjtm vjfh vimUi k[p 

(A) 35 (B) 30 (C) 10 (D) 25 
 

29 _______ 0[;la,gm vjfh rfd0ldf\ Pÿf[htf ,fj[ k[p 

(A) 50 (B) 80 (C) 100 (D) 25 
 

30 df[8[yl tf,l 5f0jfyl ______  0[;la, vjfh PT5Gg yfi k[p 

(A) 100 (B) 120 (C) 125 (D) v[s56 gcl\ 
 

31 1982df\ vf[:szjf.<0[ ________ ,Bi]\ ct]\ s[ 

(A) vd[Lzsf n]Lgifgf[ ;f{yl 3m\wfL8if[ n[x k[p 

(B) ŒLgn"iC 3m\3f8 v[ h dfgjlgf :jf:Yi df8[gf[ df[8fdf\ df[8m n]Xdg 5}zjfz yx[p 

(C) aGg[  (D) v[s56 gcl\ 
 

32 zLxifv[ LjN]t 5[nf sztl 5c[,l 5zdf6]\ eÚl s. ;f,df\ :yf5lp 

(A) 1950 (B) 1955 (C) 1900 (D) 1954 
 

33 5zdf6]\ af[Da tyf 5zdf6] eÚldf\ ________ tTjm j5zfi k[p 

(A) i]z[glid (B) %,]8mLgid (C) YfmLzid (D) P5zgf Ê6[i 
 

34 z[0mg jfi]gl dfgjlgf xzlzgf sif\ efudf\ s[G;z yjfgl n[cxt zc[ k[p 

(A) 5[8 (B) o[o;f (C) aGg[ (D) v[s56 gcl\ 
 

35 _______ ;Ôjmgf\ Ôjg 8sfjjf df8[ vLgjfi" k[p 

(A) Pqdf (B) sfa"g df[gf[s;f.0 (C) ;<oz0fif[s;f.0 (D) v[s56 gcl\ 

        
 



36 z[Loòhz[8z vg[ v[zsLG0xgz df\yl sif[\ jfi] acfz gls/[ k[p 

(A) sfa"g 0fif[;f.0 (B) v[df[Lgif (C) s,mzm o,mzm sfa"g (D) v[s56 gcl\ 
 

37 vfw]Lgs b[tldf\ df[8f 5~df6[ ________ zf;fiL6s bftzm j5zfi k[p 

(A) gf.åmhg (B) om:oz; (C) aGg[ (D) v[s56 gcl\ 
 

38 vfhyl 200 jqf" 5c[,f\ h[D;[jf[8[[ ______ yl rf,t]\ v[GÔg agfJi]\p 

(A) jzf/yl (B) sf[,;fyl (C) jlh/lyl  (D) 5[åm,yl 
 

39 s50fVjf;6 wf[jf df8[ jjzftf ;fa]df\_______cf[I k[p 

(A) s[L<xid (B) om:o[8 (C) 5m8[Lxid (D) v[s56 gcl\ 
 

40 1939 gl ;f,df\ vd[Lzsfv[ ________ df\yl 5zdf6]\ xLst Ljs;fjlp 

(A) z[L0id (B) %,]8mLgid (C) i]z[Lgid (D) ;mg]\ 
 

41 1953df\ hf5fgdf\ _______ ufd 5f;[gf\ v[s sfzbfgfdf`yl 5fzf i]st 5f6l ufd 5f;[gf 

h/fxidf\ s,jft]\ ct]\p 

(A) 8mslif[ (B) dlgfdf8f (C) 5[,[:8f.g (D) v[s56 gcl\ 
 

42 efztdf\ Ptzl ui[,l hdlgdf\4 hdlg 3mjf6gf[ of/m _____ 8sf k[p 

(A) 87 (B) 67 (C) 97 (D) v[s56 gcl\ 
 

43 dfgjlv[ Phf" d[/jjf df8[ ________ g]\ Lj38g szlg[  t[df\yl Phf" d[/jjfgf[ 5~if; sif[" k[p 

(A) v6]\ (B) 5zdf6]\ (C) vfig (D) Ê6[i 
 

44 efztgf[ s], ef{umL,s Lj:tfz _______ ,fb c[s8z k[p  

(A) 3290 (B) 3280 (C) 3285 (D) 3295 
 

45 hdlggf\ v[s dlp dlp :tzg[ agtf\ _________ jqf" ,fu[ k[p 

(A) 50 (B) 200 (C) 150 (D) 100 
 

46 .p;p _________ df\ nLzif. ;\xmwg ;\:yf L:s%;gf j{7fLgs rf<;" 0lp sl,l\u[ h6fJi]\ ct]\ s[ 

jftfjz6df\ jwl zc[,f sfa"g 0fif[s;f.0gf 5~df6[ 5'Yjlg]\ tf5dfg jwfi]"\ k[p 

(A) 1958 (B) 1968 (C) 1978 (D) 1988 
 

47 sfa"g 0fims;f.0g]\ 5~df6 vTifz[ ______ 8sfgf\ jfLqf"s nz[ jftfjz6df\ jwl zËf]\ k[p 

(A) 0.2 (B) 0.4 (C) 0.6 (D) 0.8 
 

48 zfqåli 5if"jz6li v[5[,[8 vfymzl8l v[s8 _______ ;f,[ vd,df\ vfJif[p 

(A) 1897 (B) 1990 (C) 1997 (D) 1995 
 

49 jg ;z\1f6 v\u[gf[ sfinm sifz[ aGif[p 

(A) 1980 (B) 1780 (C) 1990 (D) 1890 
 

50 5if"jz6 z1f6 v\u[gf[ sfinm sifz[ aGif[p 

(A) 1980 (B) 1985 (C) 1986 (D) 1990   
 

 

_____________________ 


